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NEW QUESTION 1
Identify two statements that are true about the cost-organization relationship.

A. Costing Item Validation Organization can only be Item Master Organization of the underlying inventory organizations.
B. Only Inventory organizations belonging to different Item Master Organizations can be part of a cost organization.
C. Costing Item Validation Organization is used to default the Unit of Measure for costing calculations.
D. The inventory organizations that are assigned to a cost organization must all belong to the same legal entity.

Answer: CD

NEW QUESTION 2
Which execution document is created by supply chain orchestration when a make request is received?

A. Transfer Order
B. Work Order
C. Routing Create
D. Movement Request
E. Purchase Order

Answer: B

NEW QUESTION 3
Identify the availability type that is applicable for the item quantities maintained in a unit of measure different from the primary unit of measure and is available for
various transactions.

A. Available
B. Secondary Available Quantity
C. Reserved
D. Secondary On-hand Quantity
E. On Hand

Answer: B

NEW QUESTION 4
How can you inject a target web service into an EJB?

A. Define service as an injectable resource by using the <resource-ref> declaration.
B. Use a HandlerChain.
C. Use a java.xml.ws.WebServiceRef annotation.
D. Use a java.xml.ws.WebServiceContext annotation.

Answer: A

NEW QUESTION 5
Reorder quantities for an item subinventory are calculated using Fixed Lot Multiple and Round Order Quantity. Assume that the reorder quantity is 24 and you
specify 10 for the fixed lot multiple and enable rounding the reorder quantity.
What will be the reorder quantity?

A. 30
B. 20
C. 24
D. 25

Answer: A

NEW QUESTION 6
You defined an Inventory Organization that is meant to track the contract manufacturing process outsourced to a supplier.
Where do you mention that this Inventory Organization is meant for one particular supplier?

A. Manage Inventory Organization Locations
B. Manage Subinventories
C. Manage Inventory Organizations
D. Manage Contract Manufacturing Relationships
E. Manage Item Organizations

Answer: C

NEW QUESTION 7
Your client has just up their chart of accounts. They are now designing the organization hierarchy in the system.
Which three structures should the customer use the to do this?

A. Warehouse, Subinventory, and Locators
B. Cost Centers, Organizations, and Locations
C. Cost type, Default Cost Structure, and Item Organization
D. Divisions, Business Units, and Departments
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Answer: D

NEW QUESTION 8
Given:

What will be the response to a HEAD request?

A. The findAll() method will be called and the employee list will be returned.
B. The findAll() method will be called and no employees will be returned.
C. No method will be invoked and no error will be returned.
D. No method will be invoked and a 404 error will be returned.

Answer: C

NEW QUESTION 9
How can a servlet indicate to the browser that cookie data should be sent over a secure connection?

A. Call the getSecure(true) method on the cookie object.
B. Encrypt the cookie dat
C. The browser automatically sends encrypted data over a secure connection.
D. Set the ENCRYPT header in the response.
E. Configure SessionTrackingMode.SSL on the ServletContext object.

Answer: A

NEW QUESTION 10
You have a high value item that you want to audit on an unscheduled basis to deter pilfering. Which method would you use to do this?

A. ABC Count
B. Physical Inventory Count
C. Automated Cycle Count
D. Manual Cycle Count
E. Blind Inventory Count

Answer: D

NEW QUESTION 10
Your organization is using min-max planning to replenish stock and the planning parameters are set at item organization level with a default subinventory.
Item: A, Min Qty: 25, Max Qty: 150 and Current Level: 20
The item above is purchased from a supplier. Although there is subinventory on hand, the subinventory is below the minimum required level. This should trigger a
Min-Max report entry, but the requisition is not generated. Why?

A. Fixed lot multiplier is not set.
B. No value has been set for the “Min-Max Replenishment Reorder Approval” profile.
C. Min-Max planning can be performed at the Organization level.
D. Rounding the Reorder Quantity is disabled.
E. Item is not defined in Manage Item Subinventories.

Answer: E

NEW QUESTION 13
Which statement is true about the WS-Security standard?

A. It is a Java EE standard for protecting SOAP services.
B. It relies on HTTP security mechanism to protect SOAP messages in transmit.
C. It provides message-level security.
D. It defines protocol-specific ways of protecting SOAP messages.

Answer: C

NEW QUESTION 17
Given the code sample:
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And:

And:

And the next fragment from beans.xml:

And this injection point:
@Inject GenericMessenger messageHandler;
Which type would be injected at run time and referenced by the messageHandler variable?

A. SmsHandler
B. MsgHandler
C. None of the abov
D. An exception would be thrown due to ambiguous bean references.
E. GenericMessenger

Answer: D

NEW QUESTION 22
Your supplier sent you stock against a consigned agreement. You transferred at the stock to owned and generated a consumption advice. An invoice was raised
by the supplier and the payment made. A few days after using some of the quantities of the stock, you realized that some of the stock sent by the supplier is not of
suitable quality and you need to send the stock back.
What is the process of returning the material?

A. You have to cancel the invoice and send the material back without changing the ownership.
B. Return the material and create a debit memo for the supplier.
C. You cannot return consigned items that are invoiced and pai
D. Treat the material as scrap.
E. You have to transfer the ownership of item and perform the return transaction.

Answer: B

NEW QUESTION 26
You have been asked to implement internationalization in your JSF web application. Where do you configure the supported locales?

A. in the <f:view> tag of the Facelet page
B. in the web.xml file
C. in the faces-config.xml file
D. in the src folder

Answer: A

NEW QUESTION 31
Material is transferred between the Subinventories within an organization via transfer order. The setup is complete and the transfer order is created though the
FBDI process.
What is the primary interface data that needs to be completed in the template?

A. CST_I_INCOMING_TXN_COSTS
B. INV_SUBINVENTORY_TRANSFER
C. INV_TRANSACTION_LOTS_INTERFACE
D. INV_SERIAL_NUMBERS_INTERFACE
E. INV_TRANSACTIONS_INTERFACE

Answer: E

NEW QUESTION 33
Which interface should you implement if you want to be alerted to the lifecycle events surrounding your task being executed by a ManagedExecutorService?

A. the Runnable Interface
B. the ManagedExecutorTask interface
C. the TaskEventListener interface
D. the ManagedTaskListener interface
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Answer: D

NEW QUESTION 38
You face a supply request exception due to some reason. You realize that you need to make some changes to the Manage Supply Request Exceptions page.
Which action will you perform?

A. The supply request cannot be update
B. The only way is to resolve the error in the source application and resubmit the request.
C. The supply request can be updated using a third-party application only.
D. Update the supply request and submit i
E. The errors will be resolved automatically.
F. Update the supply request and make sure errors are resolved before resubmitting it.

Answer: A

NEW QUESTION 39
You have orders that were due for shipping last week, but as for now they have not been shipped. Which dashboard should you check at the end of the day to
determine which orders have been shipped?

A. Past Due Shipments
B. Orders Completed in Full
C. Past Due, Completed Today
D. Due Today, Not Completed
E. Past Due, Not Completed

Answer: B

NEW QUESTION 44
Identify three statements that are true about reservations in back-to-back processing.

A. Partial fulfillment of reservations is supported.
B. Changes to reservation in Oracle Logistics Cloud leads to exceptions, which are displayed in the Supply Chain Orchestration work area.
C. Reservations cannot be created for back-to-back On Hand supply orders.
D. One reservation is created for a demand and supply.
E. Reservation supplies that can be reserved are Purchase Orders, Transfer Orders, Work Orders, and On Hand inventory.

Answer: BDE

NEW QUESTION 49
As part of implementing Oracle Cloud for your customer, you defined multiple Business Units. The customer wants you to define an Inventory Organization that is
associated with all the business units and not just one particular business unit.
How do you achieve this?

A. Define the Inventory Organization without associating it with any location.
B. Leave the Management Business Unit field blank in the Inventory Organization definition.
C. Leave the Profit Center Business Unit field blank in the Inventory Organization definition.
D. It is not possible to define an Inventory Organization that is associated with more than one business unit.

Answer: D

NEW QUESTION 51
Which two statements are true about the relationship between JavaServer Pages (JSP) and servlets? (Choose two.)

A. A JSP page must extend the HTTPServlet class to behave like a servlet.
B. A JSP page has access to the same information, objects, and a context as a servlet.
C. A JSP page is interpreted by JSPServlet.
D. A JSP page must be written as either an XML file or a JSP file before it is turned into a servlet.

Answer: AD

NEW QUESTION 54
Your company is an automobile spares manufacturing organization, which follows a discrete process. It has its own manufacturing and distribution centers located
globally.
It has these business units: US - USA business unit
CAN - Canadian business unit UK - UK business unit
MX - Mexican business unit IND - India business unit SPA - Spain business unit FRA - France business unit
NL - Netherlands business unit GER - Germany business unit
These are the inventory organizations that exist in each business unit:
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Which two statements are true?

A. All inventory organizations do not need to be in the same business unit to assign items.
B. Item organizations are also supported to serve as inventory organizations.
C. Items cannot be assigned to inventory organizations across business units.
D. Items defined in the GM organization can be assigned to US1, US2, NL1, and MX1 inventory organizations.
E. Operational Attributes can be controlled only at the Master Level.
F. You can define an item in the IN1 inventory organization and assign it to the DE1 inventory organization.

Answer: AD

NEW QUESTION 59
Which code snippet prints the exception error message as part of the page output?

A. <%= exception.message %>
B. <c:out value=”${requestScope[‘javax.servlet.error.exception’]}”/>
C. <% exception.getMessage(); %>
D. <% System.out.println(e.getMessage()) %>

Answer: D

NEW QUESTION 60
Which statement is true about Java methods that are exposed as Web Service operations by using JAX-WS API?

A. The @WebResult annotation must exist.
B. Method parameters and return types must be JAXB compatible.
C. Method parameters must be declared by using @WebParam.
D. The @WebMethod annotation must exist.

Answer: D

NEW QUESTION 64
You are a shop floor manager and you have received an order which is a back-to-back order in nature. You need to reserve 100 pieces of an item in order to finish
you order. However, there are only 50 pieces available for reservation.
If you process this request, how many pieces are provided as the fulfillment for the order?

A. 50 pieces, because full 100 quantities are not available.
B. 25 pieces, only half of the quantities can be reserved.
C. 0 pieces, because partial fulfillment of reservation not supported.
D. 100 pieces, 50 from on-hand and 50 in the form of a purchase order.

Answer: C

NEW QUESTION 69
You are building the User Preferences page of an application. A user can change values, such as his or her name, password, address, company, and so on.
These values are sent to a CDI backing bean via AJAX when the user tabs out of each field. However, the values must be retained in the CDI bean and stored in
the database only when the user clicks the Save button.
Which two scopes will allow your CDI bean to retain its state while the user is interacting with the User Preferences page? (Choose two.)

A. Dependent
B. View
C. Session
D. Request
E. Application

Answer: CD

NEW QUESTION 74
Your customer decides to implement Cloud Procurement and Inventory. While discussing with your customer, you come to know that they have a business that
spans across multiple locations and they have warehouse situated across USA and Canada.

 All their procurement, payables, and distribution activities take place from USA.
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 They have a central warehouse in USA and after the goods are delivered to this warehouse, they are distributed across multiple additional warehouses. The
warehouses are managed separately from the requisitioning units.

 For requesting material they have two units. One located in USA that monitors the current stock. They are responsible for creating requisition for any material
shortage in USA. They have another location in Canada for requesting material.
Which setup fulfills this scenario?

A. BU1: USA - as procurement and requisitioning Business Unit (BU)BU2: Canada - as requisitioning Business UnitDefine Service provider relationship where
Canada procurement business unit serves as procurement and payables service provider for Canada Requisitioning Business Unit.
B. BU1: USA - as procurement business unit (BU)BU2: Canada - as requisitioning business unitBU3: USA- as requisitioning business unitDefine Service provider
relationship where USA procurement business unit serves as procurement and payables service provider for Canada Requisitioning Business Unit.
C. BU1: USA - as procurement business unit (BU)BU2: Canada - as requisitioning business unitBU3: USA- as requisitioning business unitDefine Service provider
relationship where Canada procurement business unit serves as procurement and payables service provider for Canada Requisitioning Business Unit.
D. BU1: USA - as procurement business unit (BU)BU2: Canada - as requisitioning business unitBU3: USA- as requisitioning business unitDefine Service provider
relationship where USA procurement business unit serves as procurement and payables service provider for both Canada and USA requisitioning Business Units.

Answer: A

NEW QUESTION 76
How can you configure, in a portable way, the number of threads used by a ManagedExecutorService?

A. programmatically, using a ManagedExecutorService
B. using the ManagedExecutors utility class to define the execution properties
C. This cannot be done because this configuration is dependent on the Java EE Product Provider.
D. configuring the thread pool info in the deployment descriptor

Answer: A

NEW QUESTION 79
......
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